2019 JATDMEEREFERE Y1LT—TIV I7—-R-TU12ER 9/1

8/20 1800

BS i5iE) 'OY3Y SOV ER HiEiEE  UP H E8 HhE FEBsR
1 930|P¥Y YZPRHF—T0 R—)LIL—L 1RFE 23 18 2] WeT-F 6 9
2 9:39| PV CHk m—JLIL—A 1RTE 27 21 3 WeT-F 9 14
3 953 |7V FEBHFR100RY— Hh—JLIL—A 1RFE 27 21 3 W-.T-F 9 14
4 1007|770 C#k S5V R (1 T8 4 4 11 C-S*R 3 4
5 1011|PVY YZPRI—T70 M—=)LIL—LA 2RFE 18 12 2] WeT-F 6 9
6 1020|P¥ Ci#k R=JLIb—~A 2RFE 21 12 2] WeT-F 6 10
7 10:30|7”¥ Efk R=JLIL—A ERE (1538 2 2 11 W-T 2 3
8 10:33| PV HEBAR100ZY— M—)UIL—A 2RFE 21 12 2] WeT-F 6 9
9 1042|770 B#k 57V EEREE (1 7338 4 4 1] C+S+*R-P 4 6
10 1048|P¥ Ci#k R=JLIL—~A ERES 12 6 11 WeT-F 3 6
11 1054 | PV YZPRHI—T70 M—)LIL—A HERE 12 6 1] WeT-F 3 5
12 1069\ PV Efh m—=)LIb—A PN 2| lghz 11 W-T 2 3
13 11:02| PV FEBAR100ZY— M—)L)L—A HERE 12 6 11 WeT-F-Q 4 7
14 11:09/70 C# STV PN 4| B 11 C-S*R 3 5
15 11114|P¥ CH M=JLIL—A RS 6| I&hz 11 WeT-F 3 6
16 1120| PV HEBAR100ZY— M—)UIL—A PN 6| B 11 WeT-F-Q 4 7
17 112770 B#k S5V RS 4| &k 1] C+S+*R-P 4 7
18 11:84|PVY YZPRI—=T70 mM—=)LIL—n1 PN 6| & 11 WeT-F 3 5
19 11:39 xKEN 15
20 1154|770 BH®RIYZP IR=)LIL—A 1RFE 9 9 11 WeT-F 3 5
21 1159 |7V Ef >S7V ERE (1538 3 3 11 C*R 2 3
22 1202\ 7’Y Dk 37V ERE 4538 3 3 11 C-R 2 3
23 120570 B#k R—JLIL—LA 1RFE 13 12 11 WeT-F-Q 4 6
24 1211\ 77°¥Y Ch 27V ERE 458 8 8 11 C-S*R 3 5
25 1216|7VY YZPR9-60 STV ERE (153 38 8 11 C+S+R 3 5
26 1221|170 B®RYZP R=)LIL—A ERES 9 6 11 WeT-F-Q 4 6
27 12:227\70 D# Mm—=)LIL—A ERE(1 ) 1 1 11 W-T 2 3
28 12:30|70 Bk M—JLIL—A ERES 12 6 11 WeT-F-Q 4 7
29 12377V Ef STV RES 3| lEhz 11 C*R 2 3
30 1240|770 Dk R—)LIL—A RIS 1 1 11 W-T 2 3
31 1243|777 D S5V RES 3| lEhz 11 C*R 2 3
32 1246|770 BHRIYZP R—)LIL—A RIS 6| B 11 WeT-F-Q 4 6
33 12527V Ci#h S5V RES 6| B 1] C+S+R 3 6
34 12868|7V YZPRH-60 STV PN 6| B 11 C-S*R 3 5
35 1303|770 B#k R—JLIL—LA RES 6| & 1] WeT-F-Q 4 7
36 1310|P¥ BHYZP60 R—)LIL—A 1RFE 31 24 3 W-T-F 9 13
37| 1323 JATD BNEXRSR KE SASRN 2] 23
38 1346| PV YZPRH—60 M—)UIL—A 1RFE 25 19 2] WeT-F 6 9
39 13565|7¥ Dk HR—=ILIL—A ERE 38 7 7 11 W-T 2 3
40 1388| PV Bk M—JLIL—A 1RFE 28| 21 3 WeT-F-Q 12 | 20
41 1418|770 JATDM =R SFV 1RTE 12 12 11 C+S+*R-P 4 5
42 1423\ PV BHRYZP60 R—)LIL—A 2RFE 24 12 2] WeT-F 6 9
43 1432|770 Dk S7V ERE(1 ) 2 2 11 C*R 2 3
44 14:35|PV YZPRH—60 R—)UIL—A 2RFE 19 12 2] WeT-F 6 9
45 1414470 BERIYZPRY— STV R (1 T8 3 3 1] C+S+*R-P 4 6
46 1450\ PV Bk M—JLIL—A 2RFE 21 12 2] WeT-F-Q 8 13
47 1503|770 Dk S7V RES 2| lEhz 11 C*R 2 3
48 1506|7V¥ B#HR¥YZP60 M—)LIL—A ERES 12 6 1] WeT-F 3 6
49 1512| PV Dk R—=)LIL—A RES 6| & 11 W-T 2 3
50 1515|PVY YZPRI—60 h—)LILb—A FERES 12 6 1] WeT-F 3 6
51 1521|770 JATDM ZBR SFV ERES 12 6 1] C+S*R+*P-J 5 8
52 1629\ 77¥ Bfk R—JLIL—LA ERES 12 6 11 WeT-F-Q 4 7
53 1636|770 BRYZPRY— STV RES 3| lEhz 1] C+S+*R-*P 4 6
54 1542|P¥ B#HRIYZP60 M—)LIL—A PN 6| & 1] WeT-F 3 6
55 1548| PV YZPRH—60 h—)LIL—LA RES 6| & 1] WeT-F 3 5
56 15563| PV Bk M—JLIL—A SRES 6| &k 11 WeT-F-Q 4 8
57 1601|770 JATDM =ZBR SFV RS 6| B 11 C-S*R-P-J 5 8
58 16:09 xEN 20
59 162970 JATDWM ZBERKR—)LIL—A 1RTE 21 16 2] WeT-F-Q 8 13
60 1642\ 7Y CHR¥Y =770 S5V ERE (1 F8) 4 4 11 C+S*R 3 6
61 1648|770 C#k K=JLIL=A 1RTE 9 ) 1 WeT-F 3 5
62 1653 |7V Bk 57V 1RFE 18 14 2] C+S*R-P 8 13




63 1706|770 BRYZPRY— MR=JLIL—A 1RTE 12 11 WeT-F 3 6
64 1712|779 BR S5V EEREE (1 T3 4 11 C+S*R+P-J 5 7
65 1711970 JATDM ZBERK—)LIL—A 2RFE 12 2] WeT-F-Q 8 13
66 17:32/70 C#k R=JLIL—LA FERES 6 1] WeT-F 3 5
67 17377V B#k 57V ERES 6 11 C-S*R-P 4 8
68 174570 BERYZPRY— H—JLIL—A FERES 6 11 WeT-F-Q 4 6
69 1761 | P CHRYZP70 S5V RES NEfiz 11 C-S*R 3 5
70 17566|/70 JATDM =ZBERMR—I)LIL—A ERES 6 1 WeTVw-F-Q |5 8
71 1804|770 C#k R=JLIL—~A RES 6| B 1] W-T-F 3 5
72 1809 |7V Bk 57V RS 6| I&hz 1] C+S+*R-P 4 8
73 181770 BRYZPRY— R=JLIL—A KBS 6| B 11 W.T-F-Q 4 6
74 1823|777V BR 7V RS 4| &k 11 C+S*R+P-J 5 9
75 183270 JATDWM ZBERMR—)LIL—A P 6| gk 1] WeT-VwW-F-Q |5 8
76 1840 xEd 16
7 1856 =




